		1 1					THOMPS	ON RROS	ADVANCED	EXCAVATING	NO	VA
	BIDDER		ENGINEER'S ESTIMATE		BIG RIVER E	XCAVATING			SPECIALISTS, LLC		CONTRACTING, INC.	
	BIDDER ADDRESS		2. (01. (22.)		1050 Olne		18211 NE Four			oia Boulevard	P.O. B	
					Astoria, (		Vancouver,					
	WASHINGTON STATE WORKMAN'S COMP. ACCT. NO.				012,316-00		568,621-01		Longview, WA 98632 179,237-00		Littlerock, WA 98556 206,913-00	
	WASHINGTON STATE CONTRACTOR'S REG. NUMBER				BIGRIE*955DW		THOMPBE077LM		ADVANES915LT		NOVACI*991N3	
	BID BOND OR OTHER GOOD FAITH TOKE			5% BID BOND			5% BID BOND		5% BID BOND		5% BID BOND	
					370 DID	DOIND	370 1010	DOND	3 /0 DIL	BOND	370 BIL	BOND
NO.	ITEM	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	Mobilization, Cleaning, and Demobilization	1 LS	\$53,000.00	\$53,000.00	\$52,000.00	\$52,000.00	\$50,000.00	\$50,000.00	\$75,415.00	\$75,415.00	\$68,000.00	\$68,000.00
2	Unexpected Site Changes	1 CALC	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00					
3	Trench Excavation Safety Systems	1 LS	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$1,500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
4	Unsuitable Excavation	50 CY	\$3,000.00	\$1,750.00	\$4,300.00	\$700.00		\$1,500.00	\$4,600.00	\$4,600.00	\$12,000.00	\$12,000.00
5	Project Temporary Traffic Control	1 LS	\$35,000.00	\$35,000.00	\$7,000.00		\$40.00	\$2,000.00	\$50.00	\$2,500.00	\$60.00	\$3,000.00
6	Locate Existing Utilities	50 EA	\$200.00	\$10,000.00		\$7,000.00	\$30,000.00	\$30,000.00	\$23,500.00	\$23,500.00	\$32,000.00	\$32,000.00
7	Erosion Control	1 LS	\$2,500.00		\$185.00	\$9,250.00	\$400.00	\$20,000.00	\$275.00	\$13,750.00	\$100.00	\$5,000.00
8	Connect to Existing System	6 EA		\$2,500.00	\$9,700.00	\$9,700.00	\$3,000.00	\$3,000.00	\$4,350.00	\$4,350.00	\$600.00	\$600.00
9	Foundation Gravel	210 CY	\$2,500.00	\$15,000.00	\$1,500.00	\$9,000.00	\$1,500.00	\$9,000.00	\$1,450.00	\$8,700.00	\$2,300.00	\$13,800.00
10	Bank Run Gravel		\$35.00	\$7,350.00	\$30.00	\$6,300.00	\$30.00	\$6,300.00	\$100.00	\$21,000.00	\$20.00	\$4,200.00
11	Crushed Surfacing Top Course	1,830 TN 320 TN	\$22.00	\$40,260.00	\$16.00	\$29,280.00	\$30.00	\$54,900.00	\$23.00	\$42,090.00	\$20.00	\$36,600.00
12	Commercial HMA		\$35.00	\$11,200.00	\$30.00	\$9,600.00	\$30.00	\$9,600.00	\$43.00	\$13,760.00	\$50.00	\$16,000.00
13		270 TN	\$160.00	\$43,200.00	\$240.00	\$64,800.00	\$190.00	\$51,300.00	\$200.00	\$54,000.00	\$230.00	\$62,100.00
14	Sawcutting	2,810 LF	\$3.00	\$8,430.00	\$2.20	\$6,182.00	\$1.10	\$3,091.00	\$4.00	\$11,240.00	\$1.00	\$2,810.00
	Topsoil	115 CY	\$28.00	\$3,220.00	\$58.00	\$6,670.00	\$35.00	\$4,025.00	\$67.00	\$7,705.00	\$30.00	\$3,450.00
15	Hydroseeding	685 SY	\$3.00	\$2,055.00	\$3.00	\$2,055.00	\$3.00	\$2,055.00	\$2.00	\$1,370.00	\$3.00	\$2,055.00
16	Sidewalk Repair	20 SY	\$40.00	\$800.00	\$100.00	\$2,000.00	\$160.00	\$3,200.00	\$120.00	\$2,400.00	\$100.00	\$2,000.00
17	Controlled Density Fill	20 CY	\$150.00	\$3,000.00	\$180.00	\$3,600.00	\$145.00	\$2,900.00	\$600.00	\$12,000.00	\$160.00	\$3,200.00
	8-Inch Waterline (Incl. Bedding)	2,290 LF	\$59.00	\$135,110.00	\$30.00	\$68,700.00	\$35.00	\$80,150.00	\$48.00	\$109,920.00	\$80.00	\$183,200.00
19	6-Inch Waterline (Incl. Bedding)	20 LF	\$40.00	\$800.00	\$42.00	\$840.00	\$34.00	\$680.00	\$92.00	\$1,840.00	\$60.00	\$1,200.00
20	3-Inch Waterline (Incl. Bedding)	10 LF	\$30.00	\$300.00	\$44.00	\$440.00	\$34.00	\$340.00	\$82.00	\$820.00	\$50.00	\$500.00
	2-Inch Waterline (Incl. Bedding)	70 LF	\$25.00	\$1,750.00	\$22.00	\$1,540.00	\$32.00	\$2,240.00	\$38.00	\$2,660.00	\$40.00	\$2,800.00
22	Additional Fittings	2,500 LBS	\$3.00	\$7,500.00	\$0.01	\$25.00	\$6.00	\$15,000.00	\$4.00	\$10,000.00	\$4.00	\$10,000.00
	8-Inch Gate Valves	15 EA	\$1,500.00	\$22,500.00	\$1,675.00	\$25,125.00	\$1,500.00	\$22,500.00	\$1,200.00	\$18,000.00	\$2,000.00	\$30,000.00
24	Vernon Avenue Crossing	1 LS	\$20,000.00	\$20,000.00	\$12,700.00	\$12,700.00	\$9,000.00	\$9,000.00	\$22,000.00	\$22,000.00	\$12,000.00	\$12,000.00
	Ridge Avenue Crossing	1 LS	\$15,000.00	\$15,000.00	\$11,300.00	\$11,300.00	\$7,000.00	\$7,000.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00
	R Street Crossing	1 LS	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$6,900.00	\$6,900.00	\$14,000.00	\$14,000.00	\$7,000.00	\$7,000.00
	Hot Tap with Tapping Valve	1 EA	\$5,000.00	\$5,000.00	\$4,300.00	\$4,300.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$8,000.00	\$8,000.00
	Fire Hydrants Assembly	3 EA	\$5,500.00	\$16,500.00	\$6,000.00	\$18,000.00	\$5,500.00	\$16,500.00	\$7,500.00	\$22,500.00	\$6,000.00	\$18,000.00
	Water Service	26 EA	\$1,000.00	\$26,000.00	\$990.00	\$25,740.00	\$1,000.00	\$26,000.00	\$1,050.00	\$27,300.00	\$1,600.00	\$41,600.00
30	1-Inch Water Service Pipe	900 LF	\$15.00	\$13,500.00	\$15.00	\$13,500.00	\$9.00	\$8,100.00	\$6.00	\$5,400.00	\$20.00	\$18,000.00

	DIDDED							THOMPSON BROS.		ADVANCED EXCAVATING		NOVA	
	BIDDER			ENGINEER'S ESTIMATE   BI		BIG RIVER EXCAVATING		EXCAVATING, INC.		SPECIALISTS, LLC		CONTRACTING, INC.	
31	2-Inch Water Service Pipe	70	LF	\$20.00	\$1,400.00	\$16.00	\$1,120.00	\$10.00	\$700.00	\$9.00	\$630.00	\$30.00	\$2,100.00
32	2-Inch Water Service Casing	380	LF	\$20.00	\$7,600.00	\$110.00	\$41,800.00	\$115.00	\$43,700.00	\$54.00	\$20,520.00	\$30.00	\$11,400.00
33	4-Inch Water Service Casing	35	LF	\$35.00	\$1,225.00	\$74.00	\$2,590.00	\$120.00	\$4,200.00		\$2,030.00	\$40.00	\$1,400.00
	Subtotal:				\$535,950.00		\$468,357.00		\$510,881.00		\$591,000.00		\$634,015.00
	Sales Tax @ 8.1%				\$43,411.95		\$37,936.92		\$41,381.36		\$47,871.00		\$51,355.22
	TOTAL CONSTRUCTION COST				\$579,361.95		\$506,293.92		\$552,262.36		\$638,871.00		\$685,370.22

							LINDSTROM	I AND SONS			 
	BIDDER			TAPANI, INC.		N'S, INC.	CONSTR	UCTION	QUIGG BROS., INC.		
	BIDDER ADDRESS			6th Place		State Street	14 Lindsti	rom Lane	819 West S	State Street	
				d, WA 98604	Aberdeen,	WA 98520	Chinook, V	WA 98614	Aberdeen,	WA 98520	
_	WASHINGTON STATE WORKMAN'S COMP			478,929-00 TAPANI*883OE		83-01	899,83	33-00	096,6	12-00	
	WASHINGTON STATE CONTRACTOR'S RE					**342LF			QUIGGBI022RT		
	BID BOND OR OTHER GOOD FAITH TOKE	N	5% BID	BOND	5% BID	BOND	5% BID BOND		5% BID	BOND	
NO.	ITEM	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
1	Mobilization, Cleaning, and Demobilization	1 LS	\$64,800.00	\$64,800.00	\$65,000.00	\$65,000.00	\$35,000.00	\$35,000.00	\$91,000.00	\$91,000.00	
2	Unexpected Site Changes	1 CALC	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
3	Trench Excavation Safety Systems	1 LS	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$2,500.00	\$2,500.00	\$18,000.00	\$18,000.00	
4	Unsuitable Excavation	50 CY	\$37.00	\$1,850.00	\$10.00	\$500.00	\$50.00	\$2,500.00	\$40.00	\$2,000.00	
5	Project Temporary Traffic Control	1 LS	\$35,000.00	\$35,000.00	\$80,000.00	\$80,000.00	\$45,000.00	\$45,000.00	\$35,000.00	\$35,000.00	
6	Locate Existing Utilities	50 EA	\$280.00	\$14,000.00	\$275.00	\$13,750.00	\$500.00	\$25,000.00	\$1,200.00	\$60,000.00	
7	Erosion Control	1 LS	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$18,000.00	\$18,000.00	
8	Connect to Existing System	6 EA	\$3,000.00	\$18,000.00	\$2,500.00	\$15,000.00	\$4,500.00	\$27,000.00	\$870.00	\$5,220.00	
9	Foundation Gravel	210 CY	\$42.00	\$8,820.00	\$56.00	\$11,760.00	\$52.00	\$10,920.00	\$60.00	\$12,600.00	
10	Bank Run Gravel	1,830 TN	\$25.00	\$45,750.00	\$4.00	\$7,320.00	\$43.00	\$78,690.00	\$30.00	\$54,900.00	
11	Crushed Surfacing Top Course	320 TN	\$75.00	\$24,000.00	\$66.00	\$21,120.00	\$48.00	\$15,360.00	\$36.00	\$11,520.00	
12	Commercial HMA	270 TN	\$175.00	\$47,250.00	\$225.00	\$60,750.00	\$220.00	\$59,400.00	\$220.00	\$59,400.00	
13	Sawcutting	2,810 LF	\$1.50	\$4,215.00	\$2.80	\$7,868.00	\$2.50	\$7,025.00	\$4.00	\$11,240.00	-
14	Topsoil	115 CY	\$50.00	\$5,750.00	\$84.00	\$9,660.00	\$39.00	\$4,485.00	\$70.00	\$8,050.00	
15	Hydroseeding	685 SY	\$3.00	\$2,055.00	\$3.00	\$2,055.00	\$8.50	\$5,822.50	\$3.00	\$2,055.00	
16	Sidewalk Repair	20 SY	\$165.00	\$3,300.00	\$160.00	\$3,200.00	\$110.00	\$2,200.00	\$550.00	\$11,000.00	
17	Controlled Density Fill	20 CY	\$140.00	\$2,800.00	\$265.00	\$5,300.00	\$220.00	\$4,400.00	\$180.00	\$3,600.00	
18	8-Inch Waterline (Incl. Bedding)	2,290 LF	\$73.00	\$167,170.00	\$70.00	\$160,300.00	\$89.50	\$204,955.00	\$82.00	\$187,780.00	
19	6-Inch Waterline (Incl. Bedding)	20 LF	\$70.00	\$1,400.00	\$75.00	\$1,500.00	\$92.00	\$1,840.00	\$135.00	\$2,700.00	
20	3-Inch Waterline (Incl. Bedding)	10 LF	\$100.00	\$1,000.00	\$62.00	\$620.00	\$50.00	\$500.00	\$120.00	\$1,200.00	
21	2-Inch Waterline (Incl. Bedding)	70 LF	\$45.00	\$3,150.00	\$18.00	\$1,260.00	\$22.00	\$1,540.00	\$50.00	\$3,500.00	
22	Additional Fittings	2,500 LBS	\$3.00	\$7,500.00	\$1.00	\$2,500.00	\$4.00	\$10,000.00	\$4.00	\$10,000.00	
23	8-Inch Gate Valves	15 EA	\$1,200.00	\$18,000.00	\$1,500.00	\$22,500.00	\$1,800.00	\$27,000.00	\$1,850.00	\$27,750.00	
24	Vernon Avenue Crossing	1 LS	\$14,100.00	\$14,100.00	\$20,000.00	\$20,000.00	\$21,000.00	\$21,000.00	\$16,000.00	\$16,000.00	
25	Ridge Avenue Crossing	1 LS	\$12,300.00	\$12,300.00	\$16,000.00	\$16,000.00	\$18,000.00	\$18,000.00	\$15,000.00	\$15,000.00	
26	R Street Crossing	1 LS	\$8,900.00	\$8,900.00	\$14,000.00	\$14,000.00	\$18,000.00	\$18,000.00	\$13,000.00	\$13,000.00	
27	Hot Tap with Tapping Valve	1 EA	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$6,100.00	\$6,100.00	
28	Fire Hydrants Assembly	3 EA	\$7,500.00	\$22,500.00	\$7,500.00	\$22,500.00	\$7,200.00	\$21,600.00	\$5,000.00	\$15,000.00	
29	Water Service	26 EA	\$1,250.00	\$32,500.00	\$1,700.00	\$44,200.00	\$1,200.00	\$31,200.00	\$1,900.00	\$49,400.00	
30	1-Inch Water Service Pipe	900 LF	\$32.00	\$28,800.00	\$10.50	\$9,450.00	\$1,200.00	\$9,000.00	\$30.00	\$27,000.00	

							LINDSTROM	I AND SONS			
	BIDDER		TAPAN	I, INC.	ROGNLI	N'S, INC.	CONSTR	UCTION	QUIGG BI	ROS., INC.	
31	2-Inch Water Service Pipe	70 LF	\$37.00	\$2,590.00	\$15.50	\$1,085.00	\$24.00	\$1,680.00	\$30.00	\$2,100.00	
32	2-Inch Water Service Casing	380 LF	\$60.00	\$22,800.00	\$40.00	\$15,200.00	\$68.00	\$25,840.00	\$160.00	\$60,800.00	
33	4-Inch Water Service Casing	35 LF	\$58.00	\$2,030.00	\$100.00	\$3,500.00	\$68.00	\$2,380.00	\$350.00	\$12,250.00	
	Subtotal:			\$648,330.00		\$676,898.00		\$740,837.50		\$863,165.00	
	Sales Tax @ 8.1%			\$52,514.73		\$54,828.74		\$60,007.84		\$69,916.37	
	TOTAL CONSTRUCTION COST			\$700,844.73		\$731,726.74		\$800,845.34		\$933,081.37	
	Sealed bids were opened at the North Beach Water District, 2212 272nd Street, Ocean Park, Washington 98640 on Friday, February 15, 2019, at 11:00 a.m. (local time).										
	I hereby certify that, to the best of my knowledge, the above tabulations are true and correct transcriptions of the unit prices and total amounts bid.					DENOTES MATHEMATIC ROUNDING EI					
	JOE PLAHUTA, P.E.										